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THE P-BLOCK ELEMENTS

1. How does nitrogen differ in its chemical
behaviour from rest of the elements of its

group ?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YwRSHisHT9tx

° Watch Video Solution

2. Discuss the anomalous behaviour of

nitrogen.

o Watch Video Solution

3. Nitrogen exists as diatomic molecule and
phosphorous acts as tetra atomic molecule.

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_YwRSHisHT9tx
https://dl.doubtnut.com/l/_7nxYsqoHL1xh
https://dl.doubtnut.com/l/_AB31FpfzMdjn

4. Why does the reactivity of nitrogen differ

from phosphorus?

° Watch Video Solution

5. Phosphorus (Py) is more reactive than

nitrogen (/Vs)

o Watch Video Solution



https://dl.doubtnut.com/l/_AB31FpfzMdjn
https://dl.doubtnut.com/l/_NyhxrtLNIfZu
https://dl.doubtnut.com/l/_MfyipyRZxboH

6. Why nitrogen is less reactive?

o Watch Video Solution

7.Why ammonia is a good complexing agent?

o Watch Video Solution

8. why ammonia has higher boiling point than

phosphine ?

o Watch Video Solution



https://dl.doubtnut.com/l/_F2oCKLmPZJn8
https://dl.doubtnut.com/l/_9PJtlOIZJlgH
https://dl.doubtnut.com/l/_zvJLpVrZmXwb

9. Why ammonia is a stronger base than

phosphine?

o Watch Video Solution

10. Explain why N Hj is basic but BiHjs is only

feebly basic.

o Watch Video Solution



https://dl.doubtnut.com/l/_zvJLpVrZmXwb
https://dl.doubtnut.com/l/_iA8GOjXLK4Z3
https://dl.doubtnut.com/l/_0KD8FESI6C1T

11. Why does NHj3 form hydrogen bond but

PH; does not?

° Watch Video Solution

12. PCl5 is known but PI5 is not known. Why?

° Watch Video Solution

13. Though nitrogen exhibits + 5 oxidation

state, it does not form penta-halide. Given


https://dl.doubtnut.com/l/_hlRo8OT8Q9bj
https://dl.doubtnut.com/l/_FbDK5Uxg0nAG
https://dl.doubtnut.com/l/_GENmDkA1T1Ai

reason.

o Watch Video Solution

14. C'Cly is not hydrolysed but SiCl, can be

hydrolysed with water. Why ?

° Watch Video Solution

15. Account for the following: The +2 oxidation
state of lead is more stable than +2 oxidation

state of Tin.


https://dl.doubtnut.com/l/_GENmDkA1T1Ai
https://dl.doubtnut.com/l/_j3bAwBnw5Otm
https://dl.doubtnut.com/l/_UtJy556ssjEg

° Watch Video Solution

16. How is nitrogen prepared in the

laboratory? Write the chemical equations

o Watch Video Solution

17. Give the different uses of dinitrogen.

o Watch Video Solution



https://dl.doubtnut.com/l/_UtJy556ssjEg
https://dl.doubtnut.com/l/_J5lN8iaY9Vsp
https://dl.doubtnut.com/l/_ji8LjooeFt0e

18. How IS ammonia manufactured

industrially?

o Watch Video Solution

19. Explain cause of diagonal relationship.

o Watch Video Solution

20. What are the essential conditions for

formation of ammonia by Haber's process/?



https://dl.doubtnut.com/l/_ip76m8gERG34
https://dl.doubtnut.com/l/_otbvcarfXkhv
https://dl.doubtnut.com/l/_mPmGfvPwkigp

o Watch Video Solution

21. Why does nitric oxide become broen when

released inn air?

o Watch Video Solution

22. What is laughing gas ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mPmGfvPwkigp
https://dl.doubtnut.com/l/_2AUJJqa199Gn
https://dl.doubtnut.com/l/_nY9qatiHJRbe

23. What is laughing gas ?

o Watch Video Solution

24. Describe Ostwald's process for the
manufacture of nitric acid. Give important

uses of nitric acid.

o Watch Video Solution

25. Explain the structure of nitric acid.



https://dl.doubtnut.com/l/_5HNvtbk1ZnCc
https://dl.doubtnut.com/l/_B0riNAstDuTR
https://dl.doubtnut.com/l/_t9UNkjtkoGm4

o Watch Video Solution

26. lllustrate how copper metal can give

different products on reaction with HNQOs.

o Watch Video Solution

27. Write two reactions of HNQOj3 with organic

componnds

o Watch Video Solution



https://dl.doubtnut.com/l/_t9UNkjtkoGm4
https://dl.doubtnut.com/l/_pOpgfp77gA1v
https://dl.doubtnut.com/l/_OXwx0Wmj7H6r
https://dl.doubtnut.com/l/_ZgdXGzbBZ4vo

28. Define allotropy.

o Watch Video Solution

29. What is ammonia highly soluble in water?

o Watch Video Solution

30. Why is yellow phosphorus kept under

water ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZgdXGzbBZ4vo
https://dl.doubtnut.com/l/_SQFps3pTGMOT
https://dl.doubtnut.com/l/_sfmrmTXiTvsa

31. Why white phosphorus is more reactive

than red phosphorus?

o Watch Video Solution

32. Give the different methods of preparation

of carbon monoxide.

o Watch Video Solution



https://dl.doubtnut.com/l/_sfmrmTXiTvsa
https://dl.doubtnut.com/l/_DcVBN5BuTXTs
https://dl.doubtnut.com/l/_Q8IyrbmDMr8L

33. Give reaction of HNQO3 with following non
metals

Sulphur

o Watch Video Solution

34. Give reaction of HNQO3 with following non
metals

Sulphur

o Watch Video Solution



https://dl.doubtnut.com/l/_A3V3XpXRBua5
https://dl.doubtnut.com/l/_RrrZxvmhlImj
https://dl.doubtnut.com/l/_gndhCR3zsIBU

35. Complete the following reaction

CH,
“~(-o+ener, KOH
CcHA"

° Watch Video Solution

36. Complete the following reaction equation :

CH,
+ HI —

o Watch Video Solution



https://dl.doubtnut.com/l/_gndhCR3zsIBU
https://dl.doubtnut.com/l/_hyCoptwM5RQ5

37. Give the structure of phosphorus

trichloride (PCl3)

° Watch Video Solution

38. Draw the structure of PCl;.

° Watch Video Solution

39. PCll5 is known but PI5 is not known. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_OoXxylV6Hzit
https://dl.doubtnut.com/l/_sN1h9AT1m956
https://dl.doubtnut.com/l/_0M7TCAH8oKTL

40. Why does R3P = O exist but R3N = O

does not? (R= alkyl group)

o Watch Video Solution

41. Why all bonds in PCl5 are not equal?

o Watch Video Solution



https://dl.doubtnut.com/l/_0M7TCAH8oKTL
https://dl.doubtnut.com/l/_mQZo7AIKoek6
https://dl.doubtnut.com/l/_m9sbFFVhyScx

42. What is the oxidation state

phosphorous in POF3 and CasP; ?

of

° Watch Video Solution

43, Define inert pair effect.

° Watch Video Solution

44.How H3 PQs is diprotic acid?

° Watch Video Solution



https://dl.doubtnut.com/l/_F8BrJE5TpkKS
https://dl.doubtnut.com/l/_sPWzjcOVzVeY
https://dl.doubtnut.com/l/_bFqqcglXAf0r

45.Bi (V) is a stronger oxidising agent than Sb

(V). Why ?

o Watch Video Solution

46. Which is a stronger reducing agent, SbHj3

or BiH5 ,and why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bFqqcglXAf0r
https://dl.doubtnut.com/l/_SKCFXAz57Gb0
https://dl.doubtnut.com/l/_77tT34ssVS83

47. Oxygen gas is inert at room temperature

why?

o Watch Video Solution

48. Why oxygen is gas while sulphur is a solid

at room temparture ?

o Watch Video Solution



https://dl.doubtnut.com/l/_2EPcu28FAws8
https://dl.doubtnut.com/l/_6FqGZkrB3i6m

49. (i) why are halogens strong oxidising
agents ?

(i) Why oxygen shows anomalous behaviour
from rest of members of its family ?

(i) Ammonia acts as a good complexing

agent. Explain.

o Watch Video Solution

50. The law of multiple proportion is

illustrated by the two compounds a) Sulphur


https://dl.doubtnut.com/l/_DvTGxiUU1WY9
https://dl.doubtnut.com/l/_LqkfudPoowLH

dioxide and Sulphur trioxide :

o Watch Video Solution

51. Sulphur show +4 and +6 oxidation stae in
their compounds but oxygen can not show

these oxidation states.

o Watch Video Solution

52. Explain that SO, can act as an oxidising

agent as well as a reducing agent, but SO;


https://dl.doubtnut.com/l/_LqkfudPoowLH
https://dl.doubtnut.com/l/_1604Vn7QMHT8
https://dl.doubtnut.com/l/_rODeIf0zhB5y

can act as an oxidising agent only.

o Watch Video Solution

53. Explain why H50 is a liquid butH,S is a

gas at room temperature.

° Watch Video Solution

54.Bond angle in (PH,) " is higher than that

in PH3. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_rODeIf0zhB5y
https://dl.doubtnut.com/l/_27l5CnLu9wSf
https://dl.doubtnut.com/l/_JTuxp459XmK2

55.Why is H5 S less acidic than Hy Te ?

o Watch Video Solution

56. Which of the two H,O or HsS has higher

boiling point ? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_JTuxp459XmK2
https://dl.doubtnut.com/l/_4PqMB9S14ocO
https://dl.doubtnut.com/l/_GXBBM8xCvHra

57. Write the order of thermal stability of the

hydrides of Group 16 elements.

o Watch Video Solution

58. Why SFjy is known but O Fy is not known

o Watch Video Solution

59. OFj is not known whereas SFg is known.

Explain it.



https://dl.doubtnut.com/l/_YGd7jSAaZ4P3
https://dl.doubtnut.com/l/_7qwl2Oyp25mg
https://dl.doubtnut.com/l/_BRLAAQVFtS3N

o Watch Video Solution

60. Discuss the different methods

preparation and properties of dioxygen.

of

o Watch Video Solution

61. What is the shape of SO5 molecule ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BRLAAQVFtS3N
https://dl.doubtnut.com/l/_yH1AFXlySvzp
https://dl.doubtnut.com/l/_tCa2nlBuvZMP

62. SO, act as both oxidising and reducing
agent but HyS acts as only reducing agent.

Why ?

o Watch Video Solution

63. Comment on nature of two S-O bond
formed in SO, molecule. Are the two S-O

bonds in this molecule equal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MDjfmwjJai2f
https://dl.doubtnut.com/l/_V9C4mZSy4nww
https://dl.doubtnut.com/l/_ef8lavZkz7mN

64. SO, has acidic character. Explain.

o Watch Video Solution

65. How is SO, an air pollutant?

o Watch Video Solution

66. The two O-O bond lengths in ozone

molecule are identical explain ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ef8lavZkz7mN
https://dl.doubtnut.com/l/_Ja9Pe372fPyZ
https://dl.doubtnut.com/l/_N6t2gNwjvXmm

67. Why does O3 act as a powerful oxidising

agent ?

o Watch Video Solution

68. Write the reactions of SO, with :

K20T207.

o Watch Video Solution



https://dl.doubtnut.com/l/_N6t2gNwjvXmm
https://dl.doubtnut.com/l/_f055s1R8jj5W
https://dl.doubtnut.com/l/_YpiHet5SCJMF

69. Write the reactions of SO, with :

K2C’l“207.

o Watch Video Solution

70. Discuss the preparation of ozone by

Sieman's Ozoniser.

o Watch Video Solution



https://dl.doubtnut.com/l/_1QUjSRYhb4nQ
https://dl.doubtnut.com/l/_WatqlDoWNIyF

71. How does ozone react with Kl and lead

sulphide ?

o Watch Video Solution

72. How does ozone react with :

FesO,

o Watch Video Solution



https://dl.doubtnut.com/l/_DL6Skjg2BH6C
https://dl.doubtnut.com/l/_T0u9cQQwUrfo

73. How does ozone react with :

FesO,

o Watch Video Solution

74.How ozone reacts with mercury.

o Watch Video Solution

75. Why ozone is used for purifying air in

crowded places such as cinema halls,


https://dl.doubtnut.com/l/_U2g1IFpbtfq6
https://dl.doubtnut.com/l/_aPXyinGaPyCp
https://dl.doubtnut.com/l/_bGiSFsWhekqy

underground railway stations, tunnels etc. ?

o Watch Video Solution

76. Why does sulphur in vapour state exhibit

paramagnetic character ?

° Watch Video Solution

77. Why does the sun looks red at the time of
setting ? Explain on the basis of colloidal

properties.


https://dl.doubtnut.com/l/_bGiSFsWhekqy
https://dl.doubtnut.com/l/_xKwVbpKKpxLu
https://dl.doubtnut.com/l/_MGOXRZITxb9r

° Watch Video Solution

78. How would you account for the following :
Sulphur has a great tendency for catenation

than oxygen.

° Watch Video Solution

79. Give the preparation and properties of

sulphur dioxide (SO, ).

o Watch Video Solution



https://dl.doubtnut.com/l/_MGOXRZITxb9r
https://dl.doubtnut.com/l/_9qnf3PpIa1vb
https://dl.doubtnut.com/l/_ECnU5hwDPQOZ

80. what is the contact process for the

manufacture of sulphuric acid.

° Watch Video Solution

81. Why conc. H, 50, is viscous and has high

boiling point ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ECnU5hwDPQOZ
https://dl.doubtnut.com/l/_zeEkL7WO4xaA
https://dl.doubtnut.com/l/_htHsMEjojLEj

82. Why conc. sulphuric acid is always diluted
by adding sulphuric acid to water with

constant stirring and not water to the acid ?

o Watch Video Solution

8. How charring of sugar happens with cone.

sulphuric acid ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TqiB18bHcgh8
https://dl.doubtnut.com/l/_h4Gg76Ui2zEl

84. Discuss the structure of sulphuric acid and

sulphate ion.

o Watch Video Solution

85. Halogens are highly reactive. Explain.

o Watch Video Solution

86. Why electron affinity of halogens is the

highest ?



https://dl.doubtnut.com/l/_GX8SgoCYFEMk
https://dl.doubtnut.com/l/_2nKjArBmeefb
https://dl.doubtnut.com/l/_gjrZ53CpJGyr

o Watch Video Solution

87. Fluorine exhibits only - 1 oxidation state
whereas other halogens exhibit positive

oxidation states such as +1, +3, +5, +7.

o Watch Video Solution

88. Why electron affinity of fluorine is less than

that of chlorine ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gjrZ53CpJGyr
https://dl.doubtnut.com/l/_jzoLXbpgvVOU
https://dl.doubtnut.com/l/_majs2zUP71h1

89. Why halogens are coloured gases and they

are very reactive ? Comment on it.

o Watch Video Solution

90. Explain why Bond dissociation energy of F5

is less than that of Cl, ?

° Watch Video Solution



https://dl.doubtnut.com/l/_majs2zUP71h1
https://dl.doubtnut.com/l/_O9Wl8YfbY1or
https://dl.doubtnut.com/l/_YgGt3HnDBC7K

91. Why fluorine always exhibits oxidation

state of -17?

° Watch Video Solution

92. Why are halogens strong oxidising agents?

° Watch Video Solution

93. Which compound of halogens show

positive oxidation state and why ?


https://dl.doubtnut.com/l/_O2sGzAyShQGR
https://dl.doubtnut.com/l/_T0SwMnuhtdk0
https://dl.doubtnut.com/l/_ZFnZcy0al60B

A F

B. Cl

C.Br

D. |

Answer:

° Watch Video Solution

94. Why electron affinity of fluorine is less than

that of chlorine ?

| 8 l


https://dl.doubtnut.com/l/_ZFnZcy0al60B
https://dl.doubtnut.com/l/_oJWJjlxitLEj

95. Explain the following :

lodine is more soluble in Kl solution than in

water.

o Watch Video Solution

96. Unlike Int,Tl" is most stable with

respect to disproportionation reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_oJWJjlxitLEj
https://dl.doubtnut.com/l/_ceDdc97fDbxJ
https://dl.doubtnut.com/l/_V0hwcwYs7Cxv

97. Why does F5 not form polyhalides ?

o Watch Video Solution

98. Boiling point of HCl is lower than HF .

Explain why?

° Watch Video Solution

99. Hl is stronger acid than HF. Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_gFqfUqfdJla4
https://dl.doubtnut.com/l/_rpLnGbg9HK8v
https://dl.doubtnut.com/l/_opsvTiWp7PR8

100. Arrange HCI, HI, HBr, HF in increasing

order of acidic strength.

o Watch Video Solution

101. HI is the strongest reducing agent than Hf.

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_opsvTiWp7PR8
https://dl.doubtnut.com/l/_hPdPr6NS2IWX
https://dl.doubtnut.com/l/_d37xDGNWRwD7

102. OF; should be called oxygen difluoride

and not fluorine oxide. Explain.

° Watch Video Solution

103. Give the preparation of chlorine.

° Watch Video Solution

104. Mention all the oxidation states exhibited

by chlorine in its compounds?



https://dl.doubtnut.com/l/_8sKqDcjZeNYT
https://dl.doubtnut.com/l/_fq9q639FlWkI
https://dl.doubtnut.com/l/_IVmovGz28pcY

o Watch Video Solution

105. Give the structure of various oxoacids of

chlorine.

o Watch Video Solution

106. Draw the structure HCI1O,.

o Watch Video Solution



https://dl.doubtnut.com/l/_IVmovGz28pcY
https://dl.doubtnut.com/l/_cCdnVQRGEOtb
https://dl.doubtnut.com/l/_1SlA5EVahQcd

107. Explain why fluorine forms only one

oxoacid, HOF.

o Watch Video Solution

108. Give the structure of interhalogen

compounds on the basis of hybridisation:

ClF;

o Watch Video Solution



https://dl.doubtnut.com/l/_wkf1mB5CJ6b9
https://dl.doubtnut.com/l/_ZKWezmUpyRXT

109. Give the structure of interhalogen

compounds on the basis of hybridisation:

B'T'F5

o Watch Video Solution

110. Calculate the total number of spectral

lines in balmer series from n1=2 and n2 =5.

° Watch Video Solution



https://dl.doubtnut.com/l/_MST8ECG6UeOy
https://dl.doubtnut.com/l/_BKWsS81JhOOI

111. Arrange the following in the decreasing
order of their acidic strength and also give

reason for it. HF,HBr,HC|

o Watch Video Solution

112. What are interhalogen compounds ? Give

example.

° Watch Video Solution



https://dl.doubtnut.com/l/_sg9Zeo8TpljR
https://dl.doubtnut.com/l/_xLxYYIprcApN

113. What are the interhalogen compounds ?

Why are these more reactive than halogens ?

o Watch Video Solution

114. Why ICl is more reactive than I, ?

o Watch Video Solution

115. Draw structure of BrFj.

o Watch Video Solution



https://dl.doubtnut.com/l/_8mpvxp5P1TTH
https://dl.doubtnut.com/l/_JgKCM0nLbkrO
https://dl.doubtnut.com/l/_v4mObwo4VPF9

116. Which neutral molecule is isoelectronic

with CIO-?

o Watch Video Solution

117. Write two uses of ClO..

o Watch Video Solution



https://dl.doubtnut.com/l/_v4mObwo4VPF9
https://dl.doubtnut.com/l/_32ObE05KIbYU
https://dl.doubtnut.com/l/_xvsZe1afhdg5

118. Why C'lF; exists, but F'Cl3 does not exist

?

o Watch Video Solution

119. Draw the structure of XeF5, and what is

the state of hybridisation of Xe in it ?

o Watch Video Solution



https://dl.doubtnut.com/l/_UjZ8Et9TVasH
https://dl.doubtnut.com/l/_pToaNYQtQKmy

120. Calculate the wavelength of an electron

moving with a velocity of 2.05 ms-1

° Watch Video Solution

121. Explain why
Most metal fluoride are ionic in nature than

metal chloride.

° Watch Video Solution



https://dl.doubtnut.com/l/_PTLdlyM7L33R
https://dl.doubtnut.com/l/_PZWqSB9Cpqkw

122. Give the shape of I F5.

o Watch Video Solution

123. Draw structure of I F7.

o Watch Video Solution

124. Give reasons: Sz'F62_ known, out SiClﬁ_

is not known.

o Watch Video Solution



https://dl.doubtnut.com/l/_mqDuSL27F7tk
https://dl.doubtnut.com/l/_cq5fendyUIF6
https://dl.doubtnut.com/l/_9MwCh5fTUhR5

125. Explain why perchloric acid is a strong

acid than sulphuric acid.

o Watch Video Solution

126. Explain the following :
lodine forms I3_ but F, does not form F3_

ion. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_9MwCh5fTUhR5
https://dl.doubtnut.com/l/_vbp4946duN86
https://dl.doubtnut.com/l/_ufVJQ2yxfefw
https://dl.doubtnut.com/l/_zTch7P1DfS6w

127. What are pseudohalogens ? Give example.

o Watch Video Solution

128. Explain why transition elements have high

melting and boiling points ?

o Watch Video Solution

129. Electron affinity of noble gases s

negligible. Explain.

| & I


https://dl.doubtnut.com/l/_zTch7P1DfS6w
https://dl.doubtnut.com/l/_ObOhZ96sXJy5
https://dl.doubtnut.com/l/_rAIYFoxFRxDc

| ¥ Watch Video Solution |

130. Noble gases have largest radii. Explain.

o Watch Video Solution

131. Why do noble gases exist as monoatomic ?

o Watch Video Solution

132. Why zero group elements are inert ?

| & I


https://dl.doubtnut.com/l/_rAIYFoxFRxDc
https://dl.doubtnut.com/l/_OzBKbdUDhlbp
https://dl.doubtnut.com/l/_7EVfrEMS92tZ
https://dl.doubtnut.com/l/_XpUN0Pt7rFKC

| ¥ Watch Video Solution |

133. Why noble gases are inert or inactive ?

o Watch Video Solution

134. Name the Scientist who prepared the first

compound of noble gases.

o Watch Video Solution



https://dl.doubtnut.com/l/_XpUN0Pt7rFKC
https://dl.doubtnut.com/l/_c64kjgDbi4Fl
https://dl.doubtnut.com/l/_wiEXhxavDR1c

135. What inspired N. Bartlett,for carrying out

the reaction between Xe and PtFy?

° Watch Video Solution

136. Calculate the total number of spectral

lines in lymen series from n1=1and n2 =4.

o Watch Video Solution



https://dl.doubtnut.com/l/_EqJNEvYcZAG2
https://dl.doubtnut.com/l/_ppWSiaxis7OY

137. A tennis ball of mass 6.0 (10 *2) kg is
moving with a speed of 62ms-1 . Calculate the

wavelength associated with this moving tennis

ball.

° Watch Video Solution

138. Give equation for the following:

X€F2 + HQO —

o Watch Video Solution



https://dl.doubtnut.com/l/_iBUKTtkod8yy
https://dl.doubtnut.com/l/_UefnMqJ4B7a0
https://dl.doubtnut.com/l/_9TGhN6YQlOOs

139. Give equation for the following:

X€F6 + HQO

o Watch Video Solution

140. Give equations for the followings:

XeF, + PFy — ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9TGhN6YQlOOs
https://dl.doubtnut.com/l/_pXJVsfo4NcCd

141. Give equation for the following:

XeFg + NaF —

o Watch Video Solution

142. NCI3 is an endothermic compound while

NF3 is an exothermic compound. explain

o Watch Video Solution



https://dl.doubtnut.com/l/_q5KXLU8GIsFo
https://dl.doubtnut.com/l/_eMoTio1lsPbw

143. Calculate the mass of a photon of sodium
light having wavelength 5894 angstrom and

velocity 3 (10*8)ms-1.

o Watch Video Solution

144. How would you account for the following :

SFy is kinetically inert.

° Watch Video Solution



https://dl.doubtnut.com/l/_H3OaIIZ0jq0F
https://dl.doubtnut.com/l/_Y8u9MIXycWGV

145. Two particles A and B are in motion. if the
wavelength associated with particle A is 5
(10*-8)m . Calculate the wavelength of particle

B if its momentum is half of A.

° Watch Video Solution

146. Noble gases are almost inert. Why do they
form compounds with fluorine and oxygen

only ?

° Watch Video Solution



https://dl.doubtnut.com/l/_z13VcYaEVPCx
https://dl.doubtnut.com/l/_szs3SDuzori7

147. Out of noble gas, only xenon is known to

form chemical compound. Explain.

o Watch Video Solution

148. By using VSEPR theory, predict the

probable structure of XeFs.

o Watch Video Solution



https://dl.doubtnut.com/l/_szs3SDuzori7
https://dl.doubtnut.com/l/_Oh2NSbeIxCmq
https://dl.doubtnut.com/l/_JBp2rWVoOGx8

149. How are Xenon fluorides XefF5,, XeF, and

XeFg prepared ?

o Watch Video Solution

150. How are XeO3 and XeOF), prepared?

o Watch Video Solution

151. Draw the structure of XeOF5

o Watch Video Solution



https://dl.doubtnut.com/l/_Xo5lAeE9wGR0
https://dl.doubtnut.com/l/_K0JdaY75xTyR
https://dl.doubtnut.com/l/_NBYkpRHfVGHA

152. Give the formula of the noble gas species

which is isostructural with Br03_ )

o Watch Video Solution

153. Give the formula of the noble gas species

which is isostructural with IBrz_ )

° Watch Video Solution



https://dl.doubtnut.com/l/_NBYkpRHfVGHA
https://dl.doubtnut.com/l/_A6pbaEnvEIL6
https://dl.doubtnut.com/l/_PUGZWb1Rx773

154. Give the formula of the noble gas species

which is isostructural with IC[, .

o Watch Video Solution

155. List the uses of neon and argon gases.

o Watch Video Solution

156. Write down the uses of helium

o Watch Video Solution



https://dl.doubtnut.com/l/_DsJkg6H2Y83t
https://dl.doubtnut.com/l/_9rOGbAQJPZPb
https://dl.doubtnut.com/l/_Zncic7Rk5pmZ

157. Why is helium used in diving apparatus?

o Watch Video Solution

Multiple Choice Questions

1. Bauxite containing chief impurities of oxides

of silicon is called

A. red bauxite


https://dl.doubtnut.com/l/_Zncic7Rk5pmZ
https://dl.doubtnut.com/l/_ZPrgyL1HuwTf
https://dl.doubtnut.com/l/_1ZQ7D0tZA5DF

B. white bauxite

C. black bauxite

D. no specific name

Answer: B

o Watch Video Solution

2. Thermite is a mixture of

A. Fe and Al

B. Ferric oxide and aluminium powder


https://dl.doubtnut.com/l/_1ZQ7D0tZA5DF
https://dl.doubtnut.com/l/_E5ySHKnsenZA

C.barium peroxide and magnesium

powder

D. Cu and Al

Answer: B

o Watch Video Solution

3. The first ionisation energy of silicon is lower

than that of

A. carbon


https://dl.doubtnut.com/l/_E5ySHKnsenZA
https://dl.doubtnut.com/l/_Xel0a5gpafwA

B. potassium

C. calcium

D. aluminium

Answer: A

o Watch Video Solution

4. Account for the following: The +2 oxidation
state of lead is more stable than +2 oxidation

state of Tin.


https://dl.doubtnut.com/l/_Xel0a5gpafwA
https://dl.doubtnut.com/l/_6gmQtJYta1gG

A. electronic configuration

B. resonance

C. inert pair effect

D. catenation

Answer: C

o Watch Video Solution

5. Define catenation?

A. formation of cations


https://dl.doubtnut.com/l/_6gmQtJYta1gG
https://dl.doubtnut.com/l/_mL6LIHd0KySl

B. deposition of cations

C.formation of Jong chains of similar

atoms

D. formation of covalent bonds.

Answer: C

o Watch Video Solution

6. Silicon hydrides are called

A. silanes


https://dl.doubtnut.com/l/_mL6LIHd0KySl
https://dl.doubtnut.com/l/_4VHOxlJR7Syv

B. silicon-nitrogen compound

C. silicides

D. silicates

Answer: A

o Watch Video Solution

7. CCly, is not hydrolysed but SiCly can be

hydrolysed with water. Why ?

A. SiCly


https://dl.doubtnut.com/l/_4VHOxlJR7Syv
https://dl.doubtnut.com/l/_WHO8ErPh2HH8

B. SiFy

C.Cl,

D. PbCl,

Answer: C

o Watch Video Solution

8. The formula of dry ice is ...couerrccenee. :

B. Dry CO- gas


https://dl.doubtnut.com/l/_WHO8ErPh2HH8
https://dl.doubtnut.com/l/_8ZHB32mBtNn9

C. Solid SOQ

D. Solid COQ

Answer: D

° Watch Video Solution

9. Which of the following is an ore of boron?

A. Dolomite

B. Cinnabar

C. Asbestos


https://dl.doubtnut.com/l/_8ZHB32mBtNn9
https://dl.doubtnut.com/l/_wzCMAiqETYnP

D. Borax

Answer: D

o Watch Video Solution

10. Compounds of Boron with hydrogen are

known as

A. Borazoles

B. Borazine

C. Boranes


https://dl.doubtnut.com/l/_wzCMAiqETYnP
https://dl.doubtnut.com/l/_L1zDZLxPXckW

D. None of the above.

Answer: C

° Watch Video Solution

11. Diborane has

A. Two banana bonds and four terminal

bonds

B. Four banana bonds and two terminal

bonds


https://dl.doubtnut.com/l/_L1zDZLxPXckW
https://dl.doubtnut.com/l/_lvuf9vq6zOgd

C. Three banana bonds and three terminal

bonds

D. None of above.

Answer: A

o Watch Video Solution

12.In By Hg ,B-atom is

A. sp® hybridised

B. sp® hybridised


https://dl.doubtnut.com/l/_lvuf9vq6zOgd
https://dl.doubtnut.com/l/_j7TKN19Lggki

C. sp-hybridised

D. sp°d hybridised

Answer: B

° Watch Video Solution

13. Orthoboric acid is

A. H3BO;
B. B(OH),

C. Na,gB407


https://dl.doubtnut.com/l/_j7TKN19Lggki
https://dl.doubtnut.com/l/_TkcVDu8guhb9

D. B,Os

Answer: A

o Watch Video Solution

14. Boron halides are

A. Arrhenius acids

B. Bronsted acids

C. Lewis acids

D. Not acids but bases


https://dl.doubtnut.com/l/_TkcVDu8guhb9
https://dl.doubtnut.com/l/_xjN1RgHoJkdz

Answer: C

o Watch Video Solution

15. Ammonia is, in general,

A. acidic

B. basic

C. amphoteric

D. all the above.

Answer: B


https://dl.doubtnut.com/l/_xjN1RgHoJkdz
https://dl.doubtnut.com/l/_roIY00ZOfryQ

° Watch Video Solution

16. N H; can be prepared by

A. Dow's process

B. Haber's process

C. Ostwald's process

D. All the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_roIY00ZOfryQ
https://dl.doubtnut.com/l/_3BeC2XedeCdP

17. Boron trioxide can be reduced to boron

with

A.C

B. Mg

D. Cu

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3BeC2XedeCdP
https://dl.doubtnut.com/l/_LX3yYBkITT4G
https://dl.doubtnut.com/l/_xppntHeF5ftv

18. In reaction

BF; + 3LiBH, — 3LiF + X, X is

A B, Hj,

B. B, H

C. BH,

D. By Hy

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xppntHeF5ftv
https://dl.doubtnut.com/l/_ZqscqycUdas1

19. Graphite is a good conductor of electricity
because
A.there is van der Waals forces between
the planes of carbon atoms
B. there is covalency among carbon atoms
C. its electrons are delocalised in each layer

D. the carbon atoms of each plane are sp?

hybridised.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqscqycUdas1

20. The laughing gas is

A. Nitrous oxide

B. Nitric oxide

C. Nitrogen trioxide

D. Nitrogen pentaoxide

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqscqycUdas1
https://dl.doubtnut.com/l/_7NRTpbgzKOdQ
https://dl.doubtnut.com/l/_8ZKAAXyCReXC

21. Which of the following compound is not

explosive?

A NF,

B. NCl,

C. NB’I"3

D. NI,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8ZKAAXyCReXC

22. Explain why carbon differs from rest of the

family members.

A. larger size and high electronegativity

B. catenation

C. availability of d-orbitals

D. low ionization enthalpy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gaap9rvcSz53
https://dl.doubtnut.com/l/_bvSnwIVPxDi7

23. What is the pH of a saturated solution of

Cu(OH),? (K, = 2.6 x 10~

A. triacid base
B. tribasic acid
C. diacid base

D. monobasic acid

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bvSnwIVPxDi7

24. Which is wrongly matched ?

A. Borax: NazB407.].OH20

B. Orthoboric acid : H3BOs

C. Carnallite: Nay,B,0O~, .3H5,0

D. Borazole: B3 N3 Hg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HIVGKxkk6tzW

25. The two O-O bond lengths in ozone

molecule are identical explain ?

A. 109° 28"

B. 90°

C.120°

D. 107°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_B4fnZubUsScF
https://dl.doubtnut.com/l/_a6TyfoviFfdM

26. Which of the following is a Lewis acid ?

A. BF; > BCl3 > BBr;

B.BB’I"g > BClg > BF3

C. BCl; > BBrs > BFj

D. BCl; > BBr; > BF;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_a6TyfoviFfdM

27. In XeF,, XeF,; and XeFg the number of

lone pairs on Xe is respectively

A 2,3,1

B.1,2,3

C.4,1,2

D.3,2,1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tFT1o2iF0qUL
https://dl.doubtnut.com/l/_aglpRHbz7oHE

28. Boron is used as metal borides in nuclear

reactor as

A. fission rods

B. control rods

C. coolant

D. moderator

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aglpRHbz7oHE

29. In diamond, carbon atom is
A. sp hybrid
B. sp” hybrid
C. sp® hybrid

D. sp>d hybrid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9pbNG5329GCy

30. The purest form of coal is

A. Peat

B. Lignite

C. Bituminous

D. Anthracite

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DQbHMXEvMbbQ

31. The basicity of phosphorus acid is :

A. two

B. three

C.one

D. zero

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2YWZZQkrlQcF

32. The most abundant element in the earth's

crust is:

A. Oxygen

B. Aluminium

C. Silicon

D. None of these.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ehqmOy3ClywI
https://dl.doubtnut.com/l/_Gq5Cfo8Ii9S4

33. Which of the following element has
maximum electron
gain enthapy(negative)? F', Cl, Br, I.

A F

B. Cl

C.Br

D. |

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Gq5Cfo8Ii9S4
https://dl.doubtnut.com/l/_Uc6ciOeM94hM

34. Which of the following has highest

ionisation enthalpy? P, N, As, Sb.

AP

B.N

C. As

D. Sb

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Uc6ciOeM94hM

35. General electronic configuration of
element of Group 16
IS :

A. nsznp6

B.nsznp4

C. ns2np5

D. ns2np2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_soryGdOVblgh

36. Among the following which is the

strongest oxidising agents: Brsy, Iy, F5, Cls.

A. B’I"g

B. I,

c. Cl,

D. F)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_A43r5AOinHSm
https://dl.doubtnut.com/l/_IA4J7Ee5NsRE

37. Which of the following does not exist?

XeOFy, NeF,, XeF,, XeFs.

A. X€OF4

B. N€F2

C. X€F2

D. XGF(;

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IA4J7Ee5NsRE

38. Ammonia is, in general,

A. acidic

B. basic

C. amphoteric

D. All the above.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Jjw625b1ayON

39. What is laughing gas ?

A. nitrous oxide

B. nitric oxide

C. nitrogen trioxide

D. nitrogen pentaoxide

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2kq4WrK1fYdL

40. Which of the following

explosive?

A NF,

B. NCl;

C. NB’I"3

D. NI

Answer: B

compound is

o Watch Video Solution



https://dl.doubtnut.com/l/_DyTJ2vtrnonk
https://dl.doubtnut.com/l/_UJt6sfD3iSOY

41. Hydrogen from HCl can be prepared by

A. Dow's process

B. Haber's process

C. Ostwald's process

D. All the above.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UJt6sfD3iSOY

42. The bond angle H-N-H in ammonia

molecule is

A. 109° 28"

B. 90°

C.120°

D. 107°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RuT19wKGu7xP
https://dl.doubtnut.com/l/_c9gtP5xAlXD1

43. In the structure of CIF3 , the number of

lone pairs of electrons on central Cl atom is :

A 2,31

B.1,2,3

C.4,1,2

D.3,2,1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_c9gtP5xAlXD1

44, CH3;COCI can be obtained directly by
reacting PCl5 with

A. CaO

B.CCLCOg

C. CaOC(l,

D.Ca(OH),

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lvGgzq7q2QHn
https://dl.doubtnut.com/l/_34tJgUWMneZQ

45. Which of the following is most volatile?

A. HI

B. HBr

C. HCl

D. HF

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_34tJgUWMneZQ

46. The oxidation number of P in HP,O, ion

IS

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yaNQ2n5nl6o1
https://dl.doubtnut.com/l/_7qeJSJLSHzvH

47. Which acid would you expect to be

stronger ?

CH;COOH or HCOOH

A. F-Br

B. F-Cl

C.F-Br

D. Cl - Br.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7qeJSJLSHzvH
https://dl.doubtnut.com/l/_EMNhpnEAJeer

48. Maximum covalency of sulphur is :

A2

B.4

C.6

D.8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EMNhpnEAJeer

49. Which of the following element has
maximum electron
gain enthapy(negative)? F', Cl, Br, 1.

A F

B. Cl

C.Br

D. |

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qWBKIO2q0KFQ

50. Give the structure and basicity of H3 POs.

D.+4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1XVcSYoJAbB

51. The basicity of phosphorus acid is :

A. Two

B. Three

C.One

D. zero

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4cg90D0VsIF5

